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Data handling
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97105124708521665042478651423567 8453412657107/
1487 1569251672506240788615241425069797612550:
06/2125142642451261423517410561454251 381304234
4253645134013254634532453140556353643214956372
215245241 56922452435245144529542534253679067¢
261256234562432549034812031243235624532112054
410586276553423839314256253646151243425510596
253245643253425652954583045145245435615672537/
15014602414236775214524162551044491 0483031093
89203922012/6753261452104309332830929431152641
140594247504958352333548609091212356345061 750
8951409652412310432150941065425144343265114861
31498523289341204391/62154/7/35316243145304951 3.
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External and endogenous

Min Costs = z Cr i + z t“"emyqy, z Ck ke
k,l k,l k

S.t.

max
dr1 = gk

z qx,; = dem,
K



XL :
XXX University
/IXI\" of Basel

Data input

'Structural’ data
* Production and transport infrastructure

 Costs and lifetime
 Environmental constraints

'Operational' data
* Qutputs
* Prices



Where to get?

Statistical databases (Census Bureau,
Federal Statistical Office, Eurostat etc.)

Global institutions (IEA, OECD etc.)

Exchanges, commodity and financial
markets, company reports and homepages

Extrapolations and derivations
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Data output
Rule 1:

If the results surprise you,
it's likely that there is a model error.

Rule 2:

It the results look reasonable,
it's still likely that there is a model error.





